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* Marks may be deducted for careless or badly arranged work.

e  All questions are NOT of equal value.
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*  Wiite your name on this paper.
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Question 1 (15 Marks)

: Lo, 12
(@) Find the exact value of cos[sin ™ (E) ]

1
®) Differentiate: cos ™ (—\/—;)

dx
© Find: J. >

g

4J-abc

(@ Evaluate: 6+ e

(e) Write down the equation for the following inverse trig function:

Y
m
7 Y 3
® Find the value of “a” if
Jsecl 2x dx =1

-a
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Year 12 Mathematics Extension Assessment Task #2, June 5% 2006

Question 2

(11 Marks)

@) J’I:'?dx is equal fo

A log, (1 +e™)+¢ B. élogg(l+92‘)+c

C. tan™!'e* 4 ¢ D.

tan~ e +¢

Draw the inverse function of the function shown on the SEPARATE

ANSWER SHEET on the same graph.

Find the general solution to  sin 2% = L

shaded area.

2

Given the equation  x — cog x=0;

@

(i)

explain how you wonld find your first approximation to the =

root of this equation,

1 i L
If you take x, =5 as your first approXimation, use one

application of Newton’s Method, to find a better
approximation, correct to 3 decimal places.

1

Use Simpson’s Rule with 3 function
. values to find an approximation to the

Marks
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Question3 (14 Marks)

(@)

®)

" (©)

(@

Show that the equation
* +x-3=0

“has a root near 1.2 and, by ‘halving the interval’ twice, find a better

approximation to this root correct to 3 decimal places.
Find the remainder when P(x)=x" + 4x* —3 is divided by x + 1.

If @, fand y are the 100ts of the equation 9x? —x? —5x+4=0,find

(1) _1_+_l_+l

a p 7

(if) at + pr+yt

The diagram shows a sketch of the function y=tan —' x.
@i)-  Write down the domain and range of the function. -
(i) What are the coordinates of the point BY

(iii)  Show that the exact size of the shaded on the diagram is

1
—log, 2.
2 gE -

(iv)  Hence, or otherwise, find the area bounded by y=tan ! x, the

snterval BC and the x —axis.
End of Paper.
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ANSWER SHEET FOR Question 2(b} (2 Marks)

Draw the inverse funcfion of the
function shown on the same graph.

(Attach this sheet to your written answers.)
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